<o @> (rad)

< 00, > (M)

RatioI

<op/p. > (70)

Ratio

X
iy
o

&
o
N

X
iy
o

&

o
[N

o
=
a1

< o cot(y) >
o
=
a1

...............................................................................................

o
[y
o
Py

L T SRR T B R RE-SRLRIS S 5 ASRCE SETPITPTPTSPR SRORP
—0.LBf e b L e SRR P SEITRE

TP n (PCA to beamline) TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__mkFit100PIXLLNO__RECO
—— DQM_V0001_R000000001__Global__mkFit100PIXLL__RECO

100r

o ™
o O
[

N
o
I

e A 1s -

-80------ LARRRE A R LARREE ERE R L : : : : :
PTeYs| TIPS IV | I PP O PR B e || YY) I I I P U U P
: : : : : = : : : : :

C 14 C
[ L EE T e T <444 [ R T e

0.95

3 2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

o
1702

0.9

(5]

23T =2 1 0 T2 3
TP n (PCA to beamline)



	Contents
	Page 1


